Day 4.notebook

4-3 HW Answer Key

2.1 7. -5

3 8.1

41 9. -9

5. i 10. -2i

11 11+14i 12. -1

13. xz8.y=3 14, xz-3,yz-5
15. x = 16i 16. x= 12i

17. 12i2

18. See attached for graph.
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October 30, 2018
Name K{g Alg 2 Homework 4-3

Simplify the following
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9.4t -5 = (1) —S(/): -4-8=-9

e @3 00 1) = -l

Express each of the following in a + bi form,

@9+ @50 )|+ L 12,7+ 20)+ (3 50)- (11- 30) =
j0-3L 1143y
= =1
Find the real values of x and y.

13. 3x+ 6yi =24 + 18 14, 5(x - 1)+ 3yi = -16i - 20
ax=o4  bYy=R ‘ssx—s fl'gao 3y=-1g
- 13 = - -
%= y o Yy=-5

Solve for x and put your answer in a + bi form,
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Simplify.

7 T2 = Ly E
=aul7a —
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Graph and label the corresponding points on the complex plane.

a. -3
b. 4+ 6i

c -5

d. -1-i |

e. 0+10i Z'\f\"
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Complex numbers as solutions to equations Algebra 2 Unit 4 Day 4

Today, we are going to use the quadratic formula fo solve quadratic equations.

*+* S b= Ya
Recall the quadratic formula: X = _-b—b_&
2 N
The discriminant is the number under the radicalor _lp~ ~9ac. .

Waorking with your partner, determine the discriminant and then solve the following quadratic equations
using the quadratic formula.
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Using your graphing calculator, sketch a graph of each of the quadratic equations from above.

1. x*-9=0 2.x5-6x+9=0 3. x*+9=0

) Y

Conclusions: .
When the graph infersects x-axis only once, then there is ( qu' Sdl h+/0W
and the discriminant is

and the discriminant is \ve

When the graph intersects x-axjs jwice, then there are a rea l Sd{\d‘\"od
posrr

When the graph does not intersects x-axis, then there are a co "\Du Sd (A+l0 ns

and the discriminant is '\ga I 4 .

Sep 1-2:01 PM
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For 1- 7 do the following:

1. Compute the value of the discriminant of the quadratic equation,

2. Use the value of the discriminant to predict the numberand type of solutions.
3. Find all real and complex solyfions.

ostlol Form
Do first one together:

1. 3x+x?=-7 x——-—siJ-‘q
L4 Y4
X '%(r7 O

Qil bt B%J'E éégg
23 (90017 2 conplen oo

Work on the following individually, checking your answers with your partner as you complete each one.
2. x*+4=0

b W—-_O—_ll‘g)(u) X=0 —lu

October 30, 2018

3 xf+2x+1=0

b’-l-m(;_ L}o_q(w) x= -_a_}'__FO__

| rea\ slehion

4. 3x*+4x+2=0

b uac= |(o_%ll£3)(a) X=4xJg

- = Y+ r
2 omplex Htions Y quﬁ
atbl =

2 Compleyt. SivHos = t_g_
a
=43 Sraig
Sep 1-2:01 PM
5. x=2x*+5

A-x+5=0 X’—EE
b’—4ac._ |—3=+qca)(53 =[um

A Compley. Selutians E‘t‘i

6. 9 -4x-14=0

Prliac= 10-4@EH)  X=y+ 580
=530

o ral SWhons

Jun 30-12:22 PM

Oct 30-7:44 AM
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7. Bx%+ 4x + 32 = 0 (Note: Easier if you factor first)

AX’+x +8=0 y= -t {u3
V- yac = 1-4()3)

2 Complex lishions
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